b. Complete the calculations below.

Bx 8 x 4 =
12x 10 x 7 =
3 X 7 X 6 =

#b. Complete the calculations below.

Mx 6 X 4

1M0x 9 x 11

4 x 7 x 8

Make the target number of 84 using
three of the digits below.

7|15 |3|4)]|]6 ]2

Multiply the remaining three digits

together, what is the product of the three

numbers?

Is the product smaller or larger thar

Make the target number of 126 ysing
three of the digits below.

715|314 ]|6]°2

x > = 126

Multiply the remaining three digits
together, what is the product of the three
numbers?

Is the product smaller or larger than 1267

bre P = 140

?b. Complete the calculations below.

2 x 7 x 9 =
9 x 11 x 2 =
3 X 12 x 4 =

Make the target number of 120 using
three of the digits below.

/|5[3]14]6|2

X * =120

Multiply the remaining three digits
together, what is the product of the three
numbers?

Is the product smaller or larger than 120?

Make the target number of 84 using
three of the digits below.

7|53 ]|14]|6]|2

pre p e = 72

Multiply the remaining three digits
together, what is the product of the three
numbers?

727

|s the product smaller or larger than



